(YIAY) I (YIAY),
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HAU ITAB -Y-Kontrast

Ci/Cu=(YIAY)(YIAY),  normiert fiir (YIAY),
L*=s(Y/Yp)'=d (Y4=100,Y,=11,5=134,6, n=0,31, d=19,2)[
L*=r (Y/Y)"=d (r = s(Yy/Yy)"=79,10,L* = r-d =59,8) [1b)

ij=3, Yuij=11, L*uijzsoA A
100, L*kij=115,3,(Y/AY)/(YIAY),=1,9
| Ykij=12, L*kij=50,4,(Y/Aw/(v/Awu=?éd,§42
1, Ykij=2, L*kij=20,7, (Y/AY)/(Y/AY)u:%57
0, Ykij=1, L*kij=12.9, (YIAY)/(YIAY) 33,46
- 40 f,= . ¢=120'
0.(‘)".6 72;.72'f%°'.42’ fe2 6-'-,1:1,031 Law=40cdirh
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.* . Anwendungs-
o465 . bereich
01 1 14 1'v,=18100 v

2 -1 0 1Y,=11 2 logY
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